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1. By Stroke's theorem, $Fd is equal 1. ®iod g & sgar, (040 | i

to :

(B) [(V~F)fds (B) [ (Vv xF)ids

(2f " 11,(9 xF). Ads (C) [I(VxF).fids
(D) None of these (D) 9 & B &I
2. By Gauss divergence theorem, the 2. TiH-sEaReRE T R,

value of L(ax? +byj + czk) .Ads is: L(ax? +byj+czk)Ads & 79 & -
(Alj g?;n-(a+l:>+c) ' (A) -237n(a+b+c)

(8) ?—H(a+b) (B) T (@+h)

@ P © T 00

(D) 513 @ +b +c) (D) % @ +b +c)

[1] P.T.O.
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theorem, the value of

5”( ‘J{"I'FI 5

sydx + (x + 3y)dy where Cis

(A),. =

AB) 2r

(C) 4=
(D) 6n

N rhe work done in moving a particle

' in a force field

£ - 3x’i +(2x2 - y)j + 3k along the
line joining (0,0,0) to (2,1,3) is :
(B) 8

(D) 20

(A) O
(C) 16

I
The equation o 1+ecos® and

-1+ ecos represent.
;

(A) Different conics

(B) Two straight lines
(C) Tangents of each other

&

(P) The same conic

| ,
The line o Acos6 +Bsin® touches

| .
the conic C = 1+ecosO,if

(A) (A-ef+B*=1
(B) [A+e)2+82:1
(C) (A+ef-B* =1

(D) None of these

210/B

[2]

W= TG F (2% - y)dx + (x + 3y)dy
2 2

F =3x"1 +(2xz - y)j + 3k H, T 1
f & (0,0,0) & (2,1,3) & Freml

2, W Toic g¢ fesar ook @
(A) O (B) 8
(C) 16 (D) 20

T BT —I =1+ecosé aerT
; r

! _1+ ecoso gefia o &

-
(A) 3IEHI-3(CHT Nd
(B) 2 e @
(C) v® TR & Tl
(D) & & wida

9T ohal r1=1+ecosﬂ ol @

%z Acos6 +Bsine wef axdY & ok

(A) (A-ef+B=1
(B) (A+ef +B° =1
(C) (A+ef-B*=1
(D) 4 A B &
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7. The polar equation
4 y
o= 3+4cosf +3sind,
represents :
(A) Anellipse
(B) A parabola
«,)/A hyperbola
(D) Acircle
8. PSP'is the focal chord of the conic
:_ =1+ecost, then the value of
_.1_. + i is
Sp SP T°
(A) 1
(B) O
(C)

of

9. The equation of tangent at a point

= | =]

1 ' '{
a ' on the conic P 1+ecoso js :

{ :
(A) == esing + sin(6 - a)

A

= €C€056 + cos(0 - a)*

.
¥
S

(C)

r
,
== Cos6 +ecos(0 - a)-

(D) None of these

210/B

7. g wHERET = = 3+ 4050 + 35in0
forefra o 8 U ¢
(A) g
(B) Wacd
(C) FfRaca
(D) g«
8. psp'gﬁaﬁ"§=1+ei{:059 &I Aif¥atar
g ar $+$ &7 7 &
(A) 1
(B) 0
(C)

(D)

N s

.
9. WHF —=1+ecosd & d fig ‘o

R 91 @1 T FHIEHR0T 81
(A)

=€esing + sin(8 - a)

(B)

= €C0SH + cos(6 - a)

W

M s T

(C)
(D) &H I P T&

=C0s0 + ecos(0 - a)

P ITCO L]
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11.

12,

if Sis a pole, $S' is the initial line,
/

'f/ﬁf:'zizae and a point P moves in

such a way that SP+S'P=2a, where

0<e<1, then the locus of Pis :

(A) a(lrze )»-1 ecosf

(B) a(lr_ze )

() 20-€).

2
(D) _a_(_lre)

=1+ ecosh

= (1 + ecosd)f

=(1-ecoss)

If the normals at the points whose
vectorial angles are o, and y on
the parabola % =1+C0s6 meet in
a point (p,¢) then :
(A) ¢=a+P+y
Jﬂ{ 2p=a+P+y
(C) 3p=a+B+y
(D) 4¢=a+[3+-y
The curve represented by the

equation r = 2acos(6 - a) is :

T

(A) Acircle

(B) A parabola
(C) Anellipse

(D) Ahyperbola

210/B

10.

11.

12.

aic S v ga 2, SS' Rfvw 2
SS'=2ae % 3K B frg P 5w TAR @
TR & 5 SP+S'P=2a 3781 D<e<1

2P o fargua & -

2
(A) ﬂl_;i_) =1-ecosd

r 2
3(14'9_). -1+ecose
r2

a(l e?)

(B)
(©
(D)
aft waw - =1+cos6 W faga
s aiehg B o,p 7 v § R
v v g (p, ¢) W Frer €, -

— (1+ecosé)f

a(l 92) = (1-ecosb)

(A) ¢=o+p+y

(B) 2¢=a+P+v

(C) 3p=a+B+y

(D) 4p=a+p+y

FHEROT r = 2acos(d - o) TRT WefFa
I B

(A) & ga

(B) ©® WRacd

(C) up drdgw

(D) & R
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13. The Latus rectum of the

zy(cosecu rcosh) =11s:
) 2cosu

(B) 2coseca

(C) 2sinu
(D) sinu
14. The equation Jax + by =1 repre-
sents :
(A) Ellipse

(B) Pair of straight line

.yz/) Parabola

(D) Pair of perpendicular straight
line

‘;5. The centre of the conic
14x2-4xy+11y2-44x-58v+?1=0
is:
(A) (2,2)
(B) (3,2)
(©) (3,3)
¥7(2,3)

L;S./T he following equation represents:
3x2+12xy+12y?+435x-9y+72=0
(A) Ellipse
(BY Parabola
(C) Hyperbola
(D) Circle

210/B [5]

13.

14.

15.

16.

9idd r(coseca + cos0) - 1 B e
&
(A) 2cosa

(B) 2coseca
(C) 2sina

(D) sina

TEROT Jax + Jby =1 Ff R
3.

(A) g

(B) YWG™

(C) Raead

(D) Taad TG

gTichd
14x2-4xy+11y%-44x-58y+71=0
Gl

(A) (2,2)

(B) (3,2)

(€) (3,3)

(D) (2,3)

for TieRor wefdfa o< @
3x2+12xy-+12y2+435x-9y+72=0
(A) drfga

(B) Waed

(C) Ffawama

(D) g«

PITIOU
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) 2 2
"The confocal €onics of the ellipse 17. &rfqa EE + .YT =1 ma}qcﬁaﬂf
a b k3

« Yo is :
a b ’ g
2 Z !
X Y 4 2 2
A SR S |
A (A) 5+ %=1
N Y x bz.
L 8 Kor
{ a/l. /. —- =
Y " 2 ' ar b b
(C) Zz+3z=1 Xy
LSS C) 55+ay=1
a/ A | (C) a2 bh2
(D) None of these . .
(D) & ¥ o T&
18. Confocals cut at : 18. PTOIGR UH-TIR B BIEA & :
iﬂ{fﬁmmt le- (A) wwawT §
(B) Acute angle (B) =graMor H
(C) Obtuse angle (C) s 3
(D) None of these (D) 3 A BF &
19. The length of the major axis of the 19. ¥Ha
conic | 22x%-12xy+17y2-112x+92y+178=0
22x°-12xy+17y?-112x+92y+178=0 b & e & o & -
IS :
(A) 2 j""* n—= N
(A) 2 |
’ (B) 242

!zﬂ/) 22 b

© & Jivie

©
D ﬁ
©) 32 NG
210/B [6] |
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21.

-

\If the coordinates of the points A,

//5
oy
A B, Cand D are (3,4,5), (4,6,3),

(-1,0,4) and (1,2,5) respectively;
the projection of Q_D'()'H—EB IS :

(A)
(B)
(C)
(D)

wiruiww|db plw

Direction consines of the I_ines
equally inclined to the coordinates
axes, are :
1 1 1
) t——=,t—=,F—
V3733
111
(B) 5*‘3"5]

L1 .1 1}
© 7 2 2
(D) (1,1,1)

22. The angle between two lines whose

direction ratios are : (1,1,2) and

g o2 12

(V3-1,-43-1,4)is:
(A) 30°
(B) 45°
(C) 90°

(D) None of these

210/B

20. afé Regait A, B, C @ D & Fdurid

21.

22,

waa (3,4,5), (4,6,3), (-1,0,4) aum

(1,2,5) & CD &1 AB R 78 2 :

(A 5
8) 5
© 2
®) 3
frdurie el ¥ T DOT FAM dren
Y B e st &
1 1 1
® (5545
111
(B) 5*3*5]
1 1 1
© [+5*5*5)
() (1,1,1)

¥ e ks s g9 (1,1,2)
iR (-1, -3-1, 4 2, oA
P &:

(A) 30°

(B) 45°

(C) 90°

(D) 3 | PiE &l

P.T.0.
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23. If a line makes angles ,

B,y with 23. It v T e et o, B,y m

the co- '
ordinates axes, then §et 8, @ sinfa s sin';'li +-sin\!~r
" . 2 . F
Sin" « + sin” B + sin’ y is equal to :

TR &
(A) O (A) 0
(B) 1 £B) 1
©f 2 (C) 2
(D) 3 (D) 3

24. The angle between the lines whose 24, Yapi e e sisard wieol

direction cosines satisfy the equa- l+m+n=0 AR

tions l+m+n=0 and 2Im+2nl-mn=0 & Frefia a8, &
2lm+2nl-mn=0 is: ST Er AR

(A) 60° (A) 60°

(B) 90° (B) 90°

(C) 120° (C) 120°

(D) 150° (D) 150°

he shortest distance between the 25. IRe @
x-1/2 _y-1/3 _z-1/4 -

lines 1 2 3
x—lfzzx_-_zl&:i;;ﬁ and E%jzﬂzi_h%’—lasﬁﬂﬁw
1
3Y3—1=_45a:l=2x2'1 is: Qe:
(A) 0
0
» ®)
' 5
B —
B) s ) 4
4 © B
) 3 . :
3 (D) & AP T

(D) None of these
[8]
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26. The shortest distance between the

27.

28.

z-axis and the line x+y+2z-3=0
2x+3y+4z-4=0 is:

(A) 1

(B) 2

(C) 3

(D) 4

The lines x=py+q, z=ry+s and

x=p'y+q', z=r'y+s' are perpendicu-

lar if the value of pp'+rr' is equal

to:

(A) O

(B) 1

(C) -1

(D) -2

A plane cuts the axesin A, B, C and

the centrﬁépf_ the triangle ABC is

(a,b,c). The equation of plane is:

+
+
01N
I\

=t

(A)

+
i
D

—%

(B)

+
i
W

+

Tl olw o< o<

_+_

WX o|x o|x
+

10

OIN nIN o|N
11
o

| ox
-+

(D)

210/8B

[9]

26.

27.

28.

Z-318F T 3@ x+y+22-3=0
2x+3y+4z-4=0

& dra g g 2
(A) 1~
(B) 2
(C) 3
(D) 4

AW x=py+q, z=ry+s R x=p'y+q’,
z=r'y+s' T BN TS pp'+rr'E A &
(A) O

(B) 1

(C) -1

(D) -2
U Tuad, A&l B A, B, C R Il &

aur By ABC &1 &5 (a,b,c) & |

79 THAe BT FHBOT B
(A) %+%;—+%:1
(B) §+%+%=2
(C) g+%+§-=3 ~
(D) §+%+-‘E:O
P.T.O.
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[69 \:The shortest distance between the
lines X3 y-8. 2 nd
a3 2
x+2 y z-7 .
2 c10 1 s
(A) 81
(8) 9
(C) 27
(D) 1

30'. flThe straight line x=2y= z is paral-
| lel to the plane 3x-4y+5z-10=0 if
5. is equal to
(A) O
(B) -3
(C) -4
\(/D) -5

.;The equation of the plane passing
/: through the point (1,-2,3) and per-
pendicular to the line
-2 -4 -
x3 _ ys _ 276 isﬁ:\
(A) 3x+5y+7z=0
(B) 3x+5y+7z=8
(C) 3x+5y+7z=14 |,
/(D) 3x+5y+7z=21
_32. The distance of the origin from the
plane 2x+6y-3z+7=0 is :
(A) O
9 1
(C) 2
(D) 3
210/8

[10]

29.

30.

31.

32.

4y+52-10=0 % TAR 8 afE 5 TR
2

(A) O

(8) -3

(C) -4

(D) -5

fég (1,-2,3) ¥ TERA el qun @

X-2 y-4 z-6
3 5 7
BT TR &,

(A) 3x+5y+7z=0

& TrEad 9HaA

(B) 3x+5y+7z=8
(C) 3x+5y+7z=14
(D) 3x+5y+7z=21

AT 2x+6y-32+7=0 q eI &
e
(A) O
(8) 1
(C) 2
(D) 3

https://www.dbrauonline.com
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35.

X 4_ Y _2. Z_'E l
i 5 ies
on the plane 2x-4y+z=7, then the

value of K is
577
(B) -7

kY

(C) O

_ (D) None of these

. /The acute angle between two di-

/ 34.
"/
agonals of a cube is

w o

(B) cos‘[- j ]

3
© s’ ]

4

|

W

(D) cos ’[

If the planes
a1x+b1y+clz+d1=0
and a2x+b2y+czz+d2=0
are perpendicular to each other,

then

a _b _¢

J,B’(ala2+b1b2+c1c2=0
(C) a1az+b1b2+clc2+d1d2=0

(D) None of these

210/8B

y-2 z-K

33, R XtV

1 2
2x-dy+z=7 W fR@ &, &t K &1 7 2

(A) 7
(B) -7
(c) o

(D) = A P T

. UF O & 2 it & & B AP &

(A) cos Tg}

1 1
(B) Cos _w_E]

(C) cos iJ
3

(D) cos’l(%J

. ofe gwae a,x+b,y+c,2+d =0

qU a,x+b,y+c,z+d,=0 T G &

(B) alaz+b1b2+clc2=0
(C) a1a2+b1b2+c1c2+d1d2=0
(D) & @ B T

P.T.0.
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36. The angle between the planes

3x+4y-5z2=9 and 2x+6y+6z=7 is

(A)

e

(B)
‘-K{ 5

(D) None of these

wl=

ﬁ;;flf the cone x?+y® _z2tan’a =0

has three mutually perpendicular

generators, then o equals :
(A)
(B)

(C)

Sl WA NS

() tan™ 2

e -
@ f the equation

ax’ + By’ +2z° - 2ax - 4py -40 =0

represents a sphere, its radius is :

(A) 2430
(B) 2/10
(C) 35
(D) 5

210/B

[12]

36. THAd 3x+4y-52=9 3R

37.

38.

2x+6y+62=7 & 4 T B &

(A)

Wlia olax

(B)
|8

€ 5

(D) i & B

afi i x* +y’ -z tan’ @ =0 & dH

RER AGFE &, A o R & :

N E

(A)

(B)

£la wWia

(C)

(D) tan'y2

afe TERoT

ax’ +By° +22° ~2ax - 4By - 40 = 0
o Tien Fefdfa aer & o e fizar
(A) 2430

(B) 2410

(C) 35
(D} 5

https://www.dbrauonline.com



;9. If the plane Ix+my+nz=p touches

40.

41.

e
e

the sphere x?+yZ+z%=a’ then

2 .
1”4+m?+n? is equal to
2

P

{ﬁ}), P

(B) p?

2
(D)

P’

The angle between the radical plane
of two spheres and the line joining
their centres is

(A) 0°

(B) 30°

) 90°

(D) None of these

The equation
ax2+by?+cz242ux+2vy+2wz+d=0

represents a cone if

(A) d=au?+bvi+cw?

(D) au’+bvZ+cw?+d=0

210/B

[13]

39.

40.

41.

afy gad Ix+my+nz=p M@

x2+y2+zz=azaﬁ wef Har ¢ a
RP+mi+nl @R & -

2
P

(A) 22

(B) p?

(C) a?

2
a

(D) 2

A el S gener-ae qur G Sl D
g awel Y@ & 97 & Do d

(A) 0°

(B) 30°

(C) 90°

(D) & & BE &

IR

ax?+by?+cz?+2ux+2vy+2wz+d=0
UH O O el &Rl 8, dlc

(A) d=au?+bvi+cw?

uw? v ow?

a b C

(B) d=

ut v¢ wl

—+—+d=0
a+b+C+

(©)

aul+bvZ+cwl+d=0

(D)

P.T.O.
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(B) Cone
(C pa'ﬂfm
(D} Sphere

43. “amﬂanetnme

r;+72+22=r2 makes intercent 3

. — —

- The vertex of the cone

.-’_x-l}2+{y*32)(2y+z)-(x-1)(4y+ﬁz)=0

5
(A) (-1,0,0)
‘(ll,ﬂ,ﬂ)
{C) (-1,2,3)
(D) (1,2,-3)

218/8

[14]

a b C

- - -
S— —

y-2 Z-X XL'f

42. FHIHIOT
g ma 2 3
(A) &=

%P

e g

el

(B)
(<
(D)

83, AR AN s y24 2= o

e 3 R a, b,cgRAI BT 2=

— e =

(1'1}2+(y—3z)(2y+z)_

T o 2

(x-1)(4y+62)=0

(A) (-1,0,0;
(B) (1,09

ECJ ("1 2.7

Py i

_(D; ’1"2'_.

-
-

https://www.dbrauonline.com



45.

46.

47.

The plane ux + By +yz = 0 cuts the
cone yz+zx+xy=0 in perpendicu-

lar generators if

u+B+75_Q

g e P

(C) Br+ya+ap=0

(D) None of these
The radius of the smallest sphere
passing through the points (1,0,0),

(0,1,0) and (0,0,1) is

Two spheres of radii 3 and 4 cut
orthogonally. The radius of com-
mon circle is :

(A) 12

V12

(B) —
(€©) 12

12
ME’

210/B

[15]

45,

46.

47.

qHAA ax + Py +yz = 0 TP
yz+zx+xy=06§rﬁiﬁ‘5ﬁa§fﬂm

2ok

(A) %+E+l=0

¥ o«
(B) a+p+y=0
(C)

(D) ¥ 9/ B T

famgait (1,0,0), (0,1,0) @@ (0,0,1)
I aR FY a0 Ted B ity & B

&
) |2
®) =

© 2

By +ya +ap =0

(D) 1

Q ey e a3 @en 4 € oraaa
Fred & Iwafrs ga o P -
(A) 12

V12

5
€ V12

(D) =

(B)

P.T.O.
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48. The pole of the plane 3x+4y+5z=6
with respect to the sphere
x2+y2+22=12, is :
(A) (1,1,0)
JBY (0,0,0)

(C) (6,8,10)
(D) (3.4,5)

49. The number of radical planes and

radical centres of n spheres are
equal if n is equal to
A 6
(B) 12
(C) 18
(D) 24

”50;& The vertex of the cone
Xy+2yz+3zx=0 is the point :

(A) (-1,0,0)
(B) (0,0,0)
(C) (-1,-2,0)
(-1,2,2)

51. The equation of the right circular
cylinder whose axis is z-axis and
radius 'a' is
(A) y’+z%=a’

(B) z’+x%=a
AC) x*+y?=a’

(D) x2+y2+z

210/8

48. §HAE 3x+4y+5z=6 B Menl

49,

x2+y2+22=12 & aner ga & -

(A) (1,1,0)

(B) (0,0,0)

(C) (6,8,10)

(D) (3,4,5)

n T} 3 e el aun g el o WeH
R # e n W 2

(A) 6

(B) 12

(C) 18

(D) 24

50. ¥ig xy+2yz+3zx=0 BT MY fag & -

(A) (-1,0,0)
(8) (0,0,0)

(C) ('11‘210)

(D) (-1,2,2)

51. TREgU a0 BT TR0, STy arer

z- 387 & 3R Brsar a' &
(A) y*+z%=a2
(B) z%+x%=a?
(C) x%+y?=a?

(D) x2+y?+z%=32

https://www.dbrauonline.com
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l:J-

fhe equation of the cylinder with
generator parallel to x-axis and
passing through the circle

ry’ 42729, 2x=y+zis

(A) 5y%42yz+42”-36

(B) 5y“+2yz+52/-36

f x‘+7°42yz=81

() 3y’ +z°+2yz=81

4 3.9YWhich one of the following equa-

~=“ tions represents a cone not having

three matually perpendicular gen-
erators

(A) xy+2yz+3zx=0

(B) xy+2yz-3zx=0

(C) x?+2y?-327=0

(D) x?-2y?+32°=0

54. Two spheres x’+y’+z°=25 and

o

s

x’ +y’+2?-24x-40y-182+225=0

(A*)/ Touch internally

(B) Touch externally
(C) Intersect in two points

(D) Do not intersect
The number of normals that can be

the Ellipsoid

drawn to

1 from any given

point (i, f3,7) IS :
(A) 2
(B) 4
) 6

(D) 8

210/B

52 &ma m wdraTo frem I A

53.

54.

55.

¥ AT & A A FE Ly v 9,

x=y+z § I &

(A) Gy? +2yz+42”° =36

(B) Sy’+2yz+52°=136

(C) x’+z’+2yz=81

(D) 3y’+z’+2yz=81

Preafuflaa wdmsol & @ B @1 0%

vy forent 1 TR T T T# &

forafta aRen &

(A) xy+2yz+3zx=0

(B) xy+2yz-3zx=0

(C) x2+2y2-32°=0

(D) x%-2y*43z°=0

e x2+y?+z°=25 au

x2+y2+2%-24x-40y-182+225=0

(A) 3 o a<a &

(B) a@da: WY ava &

(C) @ fregait R yferede #va &

(D) witrade & aRa &

sowaies 1Y, %, 1 iR
a b c

T & (,p,7) ¥ F 6 ™ sAfirenal

& HE @

(A) 2

(B) 4

(C) 6

(D) 8

P.T.O.
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56. The equation of the normal to the
conicoid ax?+by?+cz?=1 at
(o, By y) s

(A) X« Y_ﬁ_z_-T

ao bp cy
\(,B’{aux+bﬁy+c~rz=1

X-o _Y-B_2Z-¥
© 5 8
(D) None of these
The equation of tangent plane to
the central conicoid
5x2-3y2+z%+2=0
at the point (1,1,0) is :
(A) 5x-3y+2z+2=0
B) 5x-3y+2=0
(C) S5x+2z+2=0
(D) -3y+2z+2=0
58. The centre of the central conicoid
) ax?+byZ+cz’=1 is

57.

~«A) (0,0,0)
(B) (0,1,0)
(C) (0,0,1)
(D) (1,0,0)
59. The equation of director sphere of 59.
2 y2 ZZ . . .
the e!lipsoid el + el + 2 =1 jg +=—

\(A) xZI+y?+zi=ai+bi+c?

2 2 2 1 1 1

2’ =S+ +5

(B) X +y + 22 b2 &
2 2 2__1_ i 1
(C) X +¥ +Z _a+b+c

(D) None of these

210/B 18]

56.

57.

58.

B CAE] .":nc2+t:ﬁ"‘z""zz:]L'q-"“rﬁ"!\““Ec
ﬁ‘@(mﬁﬂ)mm“m BT HHIDTN R

y-B_2-7
bp Y

X —d
ao
aax+bﬁy+qz=1

(A)

(B)
)(4(14)’_:_9312;1

NG

(D) T A BE T

e PIFTPIAES 5x2-3y2+2242=0
aswaﬁmﬁaﬂqﬁaﬂwﬁﬂ-—g(m,o)
wRE
(A)
(B)
(C)
(D) -3y+2z+2=0

A BFPARS ax2+by%+cz’=1d
PR :

()

S5x-3y+2z+2=0
5x-3y+2=0
Sx+2z+2=0

(A) (0,0,0)
(B) (0,1,0)
(C) (0,0,1)
(D) (1,0,0)

2 2

s%qﬂha:—2+;—2+%=1 & SRTR
Mt BT FHHIOT &

(A) x*+y2+22=a2+Db2+¢2

(B) x2+Y2+22=_1_+_}_+_1_
a b ¢
(C) X+y?pz2 1,11
a b c
(D) 5 ¥ B o

https://www.dbrauonline.com



60.

62.

The condition that the plane

XCOsu + Yy Cosf + zcosy = p touches

x>y
the Ellipsoid =+ ¥_

2
z
a b &

=11is:

N

(A) acosa +bcosp +ccosy =p°

(B) a’ cos’ u +b’ cos’ B+ c> cos’y =p°

(C) acosa+bcosp+ccosy=p

(D) None of these

The surface represented by the

equation 5(x*+y?)=-6z is a :

(A) Parabolic cylinder

(B) Elliplic paraboloid

(C) Right circular cylinder of revo-
lution

(D) Paraboloid of revolution

If the section of conicoid

ax2+by?+cz?=1 by the plane

Ix+my+nz=0is hyperbﬁla, then its

section by the plane Ix+my+nz=p

is :

(A) A hyperbola

(B) Acircle

(C) Aellipse

‘DY Pair of straight line

210/B

60. dHAA X COSa + yCOSPB +2Cosy =P

61.

62,

2 2 zZ
sy 5ty ol B
*a b C
Fal 8

2

(A) acoso +bcosp+cCcosy =P
2 2 2 2 2 2 b
(B) a’cos’a+b cos p+c cos v=P

(C) acosa +bcosp+ccosy=p

(D) & ¥ B T
ﬂﬁﬂi’UTS(xzﬂz):-ﬁzERTﬂaﬁfﬂﬁﬂT

3T e &N

(A) Refers fferesR

(8) sfefes Rz

(C) 18T IRepew iferex 3 Racga=
(D) Rewetas 3 Raegz™

ofe pfeme ax+by2+cz2=1 &1 @H
Ix+my-+nz=0 gRT HTH, T ETZURaEIT
€, @ FHae Ix+my-+nz=p gRI FHI
a7 8

(A) & R

(B) @5 qq

(C) v ardga

(D) YR

P.T.O.
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" 2.972=1 & gRT Fsfiyg
@The surface represented by the 63. TGO 2x2+5Y .

equation 2x?+5y2-9z2=1 js :

(A) An ellipsoid (A) sfereies h

dic @&
(B) A hyperboloid of one sheet (E) g \
(C) Elliptic paraboloid (C) gferfe® Rl
(D) Elliptic cylinder (D) ghifled RIS

) s s a2 2 _on)i+tk B, ar
64. If £ = 3t 4 (t* - 2t)j + t'k then the 64. afE F=3t"i+(t" -2+t

Z 7=
ualueofLatt_l ar A t= 1WE:
dt? h dt?
(A) 6i+2j-6k (A) 6i+2]-6k
(f))/f—zhsﬁ (B) 6i-2j+6k
) 6i+2j+ 6k (C) 61 +2+6k
(D) None of these (D) =W ¥ P1F &I
65. If ¥ - acosAt + bsinit ,where a & b 65. Ul F = acosit + bsinit 38l a 3R b
are constant vectors, then d% 5=
& mﬁﬁa%‘,a’t-@%rw%
ae + 221 s equal to - ~
(A) -ar
(A) -ar B) -
AT
(B)
(C) 2%
(C) T
g (b) 0

66. TR F = ti - t2} 4 (- 1)k 3k

65 If F = tl—t23+ W

§=2t% +6th then the value of
l___Jj(r‘.é_)dt is :

“(A) 0

(B) 4

(C) 8

(D) 12

210/B

§:2t2f+6tj‘,ﬁ‘r[§(F.§)dtasrm:r%‘=
(A) 0

(B) 4

©) 8.

(D) 12
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68.

1
69. Find the directional derivative of -

s dZ :
:'_Jf jl (I'_)( dt; ) dt

‘A) 1414 75]4 15
(B) 14i- 75+ 15k

(C)  14i+75j-15k
(D) - 14i-75j-15
If £ = xi+yj+zk and

value of grad% is ;
(A) -

(B) -

Tl v

a6

r

(D) None of these

in the direction of  where

f:x?+ﬁ+zl2

1

0
1

®)
1

(©

(D) None of these

210/8

S Ry
TSt e )tk then the value

r- ||-'E (xz + y2 + 72 b2 then the

67.

68.

69.

e e [P AT
afe = 5t +tj-t3k?h£ (rx d}i')dt
AR :

(A) 147 +75]+15k

(B) 14i-75]+15k

(C) -14i+75] - 15K

(D) -14i-75]-15k

afg F = xi+yj+zk 3R
w2 2, 2 radl
r_|r'_(x +Y +2Ju @ g rEﬁT

a9 g

—
x>
T
= | =

feam & #, % 1 fe-arae @l R,

el F:xhyj-i-zf;

1
(A) Tz
1
(B) =
(C) ~=
(D) 3 | K &

P.T.O.

https://www.dbrauonline.com



2 qﬁ?m
70. The greatest rate of increase of 70. ﬁ'—g'(lrﬂr”TR ¢ = Xyz o R

b = xy22 at (1,0,3) is a?[&?%
(A) © (A) 0O
(B) 1 (B) 1
(C) 3 (C) 3
) 9 (D) 9

71. The angle between the surface 71. &g (2,-1,2) W, ¥ X*+y?+2?=9

X’+y’+2?=9 and x?+y?-z-3=Q at R x2+y2-z-3=0 b &G BT oy &
. X + T
the point (2,-1,2) is !

G 4 )
| 4 cos e
(A) C0osS |Evf2‘ (A) 3\[2—1)
- | 1 8 \I
8 Cos | —=
{8y cos ' 57_2?‘ (B) 5¢21)
; J
, 2
(c) cos'|—2_| (©) cos” 3Jﬁ]
13V21 )
| 4 8
(8 cos | ——
oy cos {5 © {55
(D) 3\5] 3V21
72. IfF = xi+yj+zk then divr isequal 72, AR Foxisyjezk & A givi |
to : g
(A), O (A) O
3 (8) 3
(C) Can't find (C) & Fom v
(D) None of these (D) 5 & B &
73. I F =xi+yj+zk and 73. AR F = xi+yjezk 3R
r=|r= VX +y’+2°  then the r=lf=yx’+y’+2° @
1
e divgrad{%] . dwgrad[ ]asqur%
A) 0
) o (A)
8) 1 (B) 1
2
te) © 7
D) ¥ ¥ &1 &

(D) None of these

210/8 [22]
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¢ For what value of 'a’ so that the
vector

f= (X4 2y +42)i +(2x - 3y + 32)] + (3x + 2y - 22K

g

76.

. If

IS solenoidal.
(A) 3
(B) 4
(C} 5
(D) 6

ﬂ=(x+Y+1)'i‘+i+(—x—y)ﬁ,
then cyrif is :

(A) |+]+k

-k
j -k
If = x’y + y’z + 2°x, then
Curlgrad¢ is :

(A) 2(zi +xj +yk)

(-B) yi +(4xz - 32°)] + 2zk
(C) 2xi + 3\;‘]: + 27k

\(P7 0

77. For what value of a, b, ¢ such that

f = (6xy +az’)i + (bx? - 2)j+ (3xz° + cy )k

is irrotational?

(A) a=1, b=-1, c=3
(B) a=1, b=+3, c=-1
d,Q{a=-1, b=3, c¢=-1

(D) a=-1, b=-3, c=-1

210/8B

'a' & fpw am & fore, Wk

f=(ax+2y+ 42}? +(2x -3y + 32}] +(3x + 2y 2:)!2

75.

76.

uReferabrr e @ -

(A) 3

(B) 4

(C) 5

(D) 6
qﬁ?=(x+y+1)f+3+(—x—y)l§,ﬂ’f

o=x’y+y'z+2’x, @
Curlgrad¢ &1 AF g

(A) 2(zi +xj +Yk)

(B) yi+(4xz-32°)j + 22k
(C) 2xi +3yj+2zk

(D) 0

77. a, b, ¢ & 6w 79 & fore

f=(6xy +az’)i + (bx® - 2)j + (3xz* + cy)k

3roit &2

(A) a=1, b=-1, c=3
(B) a=1, b=+3, c=-1
(C) a=-1,b=3, c=-1

(D) a=-1, b=-3, c=-1

P.T.O.
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(78 1f g

/9.

80.

x‘y1 fryzzi + Z°xk , then

Cu Cuflf}is

(A) 2zi+xj+ vk)

(B) zi 4 xj+ vk

(C) 3(2? i x:]' + yk)

(D) None of these

IfF x5, xyj. then the value of
{JF]dlz from (0,0) to (1,1) along the

straight line joining these points.

(A) 1

1
3

(@) 25
(D) 43

The value of the integral Hfﬁds on

(B)

T —

the yz-plane is :

vz
(n) LF" ¥

.~ dydz

8) 7

i

4 dydz
© MRy

(D) None of these

210/8B

[24]

. A ~ 2 0.
78. AR F - xyi -y'zieZxk, @

- oriCurlf B

A) 2(zi +xj+ YK)

3

{B) zi+xj+yk
(C) 3(zi +xj+yK)

(D) 57 I P A

cafk F=xiiexyj, @ £F-d'; BT AH

frgatt (0,0) B (1,1) ¥ Foemy awh
W R E:

(A) 1

1
(8) 3

(C) %
(D) 44

- [[Fds &1 9 yz-wee w & -

. dydz
() P X

vz
8) IF"

Ao
A

N.j

nk|

(cy A "TT

(D) 5™ I o 78
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